
 
Find a closed form: 

∫ ∫
𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)𝒍𝒏𝟐(𝒚)

(𝒙𝟐 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Izumi Ainsworth-Japan 

𝑰 = ∫ ∫
𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)𝒍𝒏𝟐(𝒚)

(𝒙𝟐 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚 = ∫

𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎⏟            
𝑰𝟏

∫
𝒍𝒏𝟐(𝒚)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎⏟        
𝑰𝟐

…(⍺)
𝟏

𝟎

𝟏

𝟎

 

𝑰𝟏 =⏞
𝒙𝟐→𝒙𝟏

𝟐
∫
√𝒙𝐥𝐧⁡(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 = −

𝟏

𝟐
∑(−𝟏)𝒏𝑯𝒏∫ 𝒙𝒏+

𝟏
𝟐𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

= −∑
(−𝟏)𝒏𝑯𝒏
𝟐𝒏+ 𝟑

∞

𝒏=𝟏

= 

∑
(−𝟏)𝒏 (𝑯𝒏 −

𝟏
𝒏
)

𝟐𝒏+ 𝟏
=
𝟏

𝟑
+∑

(−𝟏)𝒏𝑯𝒏
𝟐𝒏+ 𝟏

− (
𝟏

𝟑
+∑

(−𝟏)𝒏

𝒏(𝟐𝒏+ 𝟏)
) = 𝜷(𝟐)⏟

𝑮

−
𝝅 𝐥𝐧(𝟐)

𝟐
−

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

 

∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏⏟      
−𝐥𝐧⁡(𝟐)

+ 𝟐∑
(−𝟏)𝒏

𝟐𝒏 + 𝟏

∞

𝒏=𝟏⏟      
𝝅
𝟒
−𝟏

= 𝑮 −
𝝅 𝐥𝐧(𝟐)

𝟐
+ 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟐…⁡(𝜷) 

𝑰𝟐 = ∫
𝒍𝒏𝟐(𝒚)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎

= ∑(−𝟏)𝒏∫ 𝒚𝒏𝒍𝒏𝟐(𝒚)𝒅𝒚 = 𝟐∑
(−𝟏)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏⏟        
𝜼(𝟑)

𝟏

𝟎

∞

𝒏=𝟎

=
𝟑𝜻(𝟑)

𝟐
…⁡(ᵧ) 

∗ (𝜷)⋀(ᵧ) → (⍺) 

𝑰 = ∫
𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎⏟            
𝑰𝟏

∫
𝒍𝒏𝟐(𝒚)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎⏟        
𝑰𝟐

=
𝟑𝜻(𝟑)

𝟐
(𝑮 −

𝝅 𝐥𝐧(𝟐)

𝟐
+ 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟐) 

𝑰 =
𝟑

𝟒
𝜻(𝟑)(𝟐𝑮+ 𝝅 + 𝐥𝐧(𝟒) − 𝝅 𝐥𝐧(𝟐) − 𝟒) 

 

 


